St 7lloll 500 ¥ 5H= TR 600 o2 23, 5 7ol 2000 ¥ Sh=
ofo] AT L 4 7of 2000 Yo] HAGFUTE o] Z9] oAEO]
Aot o =547

@ 2 5% @ 2, 10%
® QIAEC] THUYT @ ofo]AAH, 5%
® olo]A~3a A 10%



2. o= "% Zol g Hol 10em AAAEE @D, O F FELE
WEsU. @9 Wolol tigt @] Wolo vlef ghe ot L

_--10cm-~ -

@ \







oS I} 22 202 857 v, &4 59 A7 |UR =
o= g 77y Y7k (% }10 9ol B2 S 1202 71A oo
AT EEES8TC Zteto] BAIE B = SHA18.)

® 17974 @ 4047 ® 27671

@ 2257 ® 16970



& A4 7k e AR BRAFY G2 Weld] ga 0 Hel o]
2 7V 70 A40] B2 L 212 ol AU

4em
@b
@ ©
@ > —
“9em”” “11lem-”
® 9:11 @ 45:75 ® 9:15

@ 16:9 ® 5:3



L]
AU




